Use and Care Guide

2 IN. FAUX WOOD CORDLESS BLIND

Installation

TOOLS REQUIRED
S E— . - i
r Elt_ectnc Ladder @ Phillips ) Level Pencil Measuring
drill screwdriver tape

Safety Information |

WARN'NG STRANGULATION HAZARD. Young children can be strangled by
cords. Immediately remove this product if a cord longer than 8.6 in. (22 cm)
or a loop exceeding 17.3 in. (44 cm) around becomes accessible.

1 INSTALLING THE BRACKETS
INSIDE MOUNT

o Attach the installation brackets (A) parallel
to the window casement on both sides.

o Secure the installation brackets (A) using
two 1-1/4 in. screws (AA) through the side
of each bracket.

o The valance should be flush with the
window opening.

o The distance between the backside of the
bracket (A) and the wall needs to be at
least 3-1/2 in. (89 mm).

INSTALLING THE BRACKETS
OUTSIDE MOUNT

Place the installation brackets (A) at the
desired position.

Make sure the overlap to the window
opening on both sides are even.

Secure the installation brackets (A) using
two 1-1/4 in. screws (AA) through the side
of each bracket.

Use a level to check that the brackets are
the same level.

NOTE: For easy installation use a level to

@ ensure all brackets are in alignment. If your
blinds come with support bracket(s), make sure
they are offset from the ladder cords.

NOTE: Recommended 2 in. (51 mm) above the
window opening.

3 INSTALLING THE SUPPORT
BRACKET (IF SUPPLIED)

o Evenly space the support bracket (B)
between the installation brackets (A) and
place the support bracket (B) slightly off
from the ladder cords.

o Make sure the top of the support bracket(s)
(B) align with the top of the installation
brackets (A) and secure using two 1-1/4 in.
screws (AA).

/

Inside Mount

Qutside Mount

Pre-Installation

PLANNING INSTALLATION Mounting surface Fastener

Remove the blinds from the package. Do not discard the packaging until Wood 1-1/4 in. Rounded Head Screw (Included)

the blinds operate to your satisfaction. Prior to beginning assembly, read Recommended Drill Bit: 1/16 in.

through all of the instructions. Drywall/ Plaster #8 Wall Anchors (Not included)

Recommended Drill Bit: 1/4 in.

‘ ﬂ NOTE: Use the correct fasteners for the mounting surface. ‘ Metal Sheet Metal Screws (Not included)

PACKAGE CONTENTS
Blind Installation | Support | Valance | Holddown | Bottom rail
width bracket (A) | bracket (B) | clip (C) | bracket (D) | endcap (E)
<38" 2 0 2 2 2
38" - 47" 2 1 3 2 2
48" - 59" 2 2 3 2 2
60" - 72" 2 2 4 2 2
Blind Wand Valance Valance | Valance Blind
width (F) (G) return (H) | corner (I) )
<38" 1 1 2 2 1
38" - 47" 1 1 2 2 1
48" - 59" 1 1 2 2 1
60" - 72" 1 1 2 2 1
Blind Installation bracket | Hold down bracket
width 1-1/4" screw (AA) 3/4" screw (BB)
<38" 4 4
38" - 47" 6 4
48" - 59" 8 4
60" - 72" 8 4

4 INSTALLING THE HEADRAIL

o Hook the valance clips (C) onto the headrail
and space them evenly.

o Make sure the valance clips (C) do not
obstruct the drum support inside the
headrail.

o Open the hinged door of the installation
brackets and insert the headrail into
the installation brackets (and support
brackets (B) if supplied).

o Close the hinged door of the installation
brackets (A).

Installation (continued)

6 ATTACHING THE VALANCE CORNER AND RETURN

o For an outside mount installation, attach the valance corner (I) and
valance return (H) to the valance (G).
c o Repeat on opposite side.

5 ATTACHING THE VALANCE

o Hold the valance (G) up to the headrail.
o Clip the valance (G) to the valance clips (C).

|~

Care and Cleaning

Guide d’utilisation et d’entretien

STORE EN FAUX BOIS SANS CORDON
DE 5 CM (2 PO)

OUTILS REQUIS

= Sh—
Perceuse
it Escabeau
électrique

Consignes de sécurité |

@ Tournevis

cruciforme

Ruban &
mesurer

AVERTISSEMENT : RISQUE D’ETRANGLEMENT. Les jeunes enfants peuvent
s’étrangler avec les cordons. Retirer inmédiatement le produit si un cordon de
plus de 22 cm (8,6 po) ou une boucle excédant 44 cm (17,3 po) devient accessible.

Avant ’installation

Installation
1 INSTALLATION DES SUPPORTS INSTALLATION DU SUPPORT 3 INSTALLATION DU SUPPORT
I‘JE FIXA’TION POUR MONTAGE I?E FIXATION POUR MONTAGE CENTRAL (SI FOURNI)
ALINTERIEUR ALEXTERIEUR o Espacer uniformément le support
o Placer les supports de fixation (A) o Placer les supports de fixation () & la central (B) entre les supports de’fi)fation (A
parallélement aux deux cotés du chéssis. position désirée. et placer le support central (B) légerement

o Fixer les supports de fixation (A) a I'aide
de deux vis 1 1/4 po (AA) sur le coté de
chaque support.

o La cantonniére doit affleurer avec
I'ouverture de fenétre.

o Ladistance entre le dos du support (A) et le

mur doit étre au moins de 3 1/2 po (89 mm).

o S’assurer que le chevauchement sur les
deux cotés de la fenétre est uniforme.

o Fixer les supports de fixation (A) a I'aide
de deux vis 1 1/4 po (AA) sur le coté de
chaque support.

o Utiliser un niveau pour s’assurer que les
supports ont été installés a la méme distance.

REMARQUE : Pour faciliter I'installation,
utiliser un niveau pour assurer que tous les

ﬂ supports sont alignés. Si le store est muni
de supports de fixation, s’assurer qu'ils sont
décalés du tendeur de cordon.

REMARQUE : Installation & 2 po (51 mm)
au-dessus de Pouverture de fenétre recommandée.

2po
(51 mm)

a écart du tendeur de cordon.
o S'assurer que le haut du support
central (B) est aligné avec le haut des
supports de fixation (A), puis fixer & I'aide
de deux vis de 1 1/4 po (AA).
/

Montage a I'intérieur

PLANIFIER L'INSTALLATION Surface de montage | Attaches
Retirer le store de I'emballage. Ne pas jeter 'emballage avant de s’assurer Bois Vis & téte ronde 1 1/4 po (incluses)
que le store fonctionne comme il se doit. Avant de commencer I'installation, Meche recommandée : 1/16 po
lire toutes les directives. Cloison séche/Platre | Ancrages muraux n° 8 (non inclus)
= - Méche recommandée : 1/4 po
REMARQUE : Utiliser les attaches appropriées selon la - —— -
surface de Métal Vis a tble (non incluses)
CONTENU DE LEMBALLAGE
Largeur Support Support | Pince de | Support Capuchon
dustore | dinstallation | central | valence | deretenue | d’extrémité
(A) (B) (©) (D) inférieure (E)
< 38po 2 0 2 2 2
38 - 47 po 2 1 3 2 2
48 - 59 po 2 2 3 2 2
60 - 72 po 2 2 4 2 2

Largeur Baguette | Valence | Extrémité de | Capuchon de | Store
du store (F) (G) valence (H) | valence (1) W)
<38po 1 1 2 2 1
38 -47 po 1 1 2 2 1
48 - 59 po 1 1 2 2 1
60 - 72 po 1 1 2 2 1

Largeur Vis pour support de | Vis pour support de
du store fixation (AA) 11/4 po | retenue (BB) 3/4 po

<38 po 4 4
38-47po 6 4
48 - 59 po 8 4
60 - 72 po 8 4

4 INSTALLATION DU BOITIER

o Accrocher les pinces de la cantonniére (C)
au boitier et les espacer uniformément.

o S’assurer que les pinces de la
cantonniére (C) n’obstruent pas le
mécanisme a l'intérieur du boitier.

o Ouvrir la porte articulée des supports
de fixation et insérer le boitier dans les
supports de fixation (ainsi que dans les
supports centraux (B) si fournis).

o Fermer la porte articulée des supports de
fixation (A).

Wipe clean with damp cloth.

Limited Lifetime Warranty

7 ATTACHING THE WAND

o Insert the stem of the wand (F) into the headrail by pressing
upwards into the headrail.

Operation

1 USING THE HOLD DOWN BRACKETS 2 USING THE WAND AND BLIND

o Attach the hold down brackets (D) against a flat surface using the o Rotate the wand (F) to tilt the blinds.
3/4 in. screws (BB). o Push up or pull down on the bottom rail to adjust the blind height.

Inside Mount Outside Mount

WHAT IS COVERED

o Original defects in materials or workmanship, assuming the product was properly installed.

o Allinternal mechanisms, components, and brackets.

o Repairs under this warranty will be made with like or similar parts.

WHAT IS NOT COVERED

o Normal wear and tear.

o Damage caused by abuse, accidents, alterations, misuse; failure to follow instructions for measurement, installation, use, cleaning, or maintenance.
o Discoloration, fading, cracking, shrinking, or stretching caused by long exposure to direct sunlight.
o Shipping or labor costs incurred by taking product down, re-measuring, or re-installation.

Installation (suite)

5 INSTALLATION DE LA CANTONNIERE 6 INSTALLATION DES CAPUCHONS ET
o Maintenir la cantonniére (G) contre le boitier. DES EXTREMITES DE LA CANTONNIERE

o Attacher la cantonniere (G) aux pinces de la cantonniére (C). o Pour une installation & I'extérieur du chassis, fixer le capuchon (1)
c et 'extrémité (H) de la valence a celle-ci.
| o Répéter de Pautre coté.

.~

Entretien et nettoyage

Nettoyer a I'aide d’un linge humide.

Garantie a vie limitée

7 INSTALLATION DE LA BAGUETTE

o Insérer la tige de la baguette (F) dans le boitier en appuyant
vers le haut.
Utilisation
1 INSTALLATION DES SUPPORTS DE RETENUE 2 UTILISATION DE LA BAGUETTE ET DU STORE
o Fixer les supports de retenue (D) contre le bas du store a I'aide o Tourner la baguette (F) pour incliner les lamelles.
des vis de 3/4 po (BB). o Pousser le store vers le haut ou le tirer vers le bas pour ajuster
la hauteur.
Montage a l'intérieur Montage a I’extérieur
8B Q F

\

—

CE QUI EST COUVERT

o Défauts originaux de matériaux ou de fabrication, en supposant que le produit ait été correctement installé.
o Tous les mécanismes internes, les composants et les supports.
o Les réparations effectuées dans le cadre de cette garantie seront réalisées avec des piéces similaires ou équivalentes.

CE QUI N’EST PAS COUVERT

o Usure et déchirure normales.

o Les dommages causés par des abus, des accidents, des altérations, une utilisation incorrecte; le non-respect des instructions de mesure, d’installation,

d'utilisation, de nettoyage ou d’entretien.

o Décoloration, décoloration, fissures, rétrécissement ou étirement causés par une exposition prolongée a la lumiére directe du soleil.
o Les frais d’expédition ou de main-d’ceuvre engagés pour retirer le produit, pour refaire les mesures ou pour le réinstaller.




